| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o e e
ko) A T T
e e S A
T T e e
T —

effi

o
R =

o ity I
0 0 11
C : . . . - H . . .
.9 J-O-:IIII.IIII.IIII.IIII!II :III.IIII.IIII.IIII.IIII

T f i
a4 N01:] SERS SRR SRR RS 1 & R STITS SR
R S 1111111 S NS S

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_TTbase

| Efficiency vs Dz |

—— DQM_CKF_TT_retrainOldFiles125 v2_prelimWPM_epoch3

V4
=
N

=
!
!

efficiency vs d

o
©
[

....................................................................

....................................................................

o
o))
[

e

.L.L»OIIII€IIII¢€.+

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


